29130 MREIE=EHEK , AT HAT

7= miiEA

M
%4,
B 124 DIN 7984 M/SARF DIN 985 , 4N,

A
R EEHRBUALE,
BERERIRRFASARS,

B

* R ELo

BEEXK
ATEENRKET,

© norelem www.norelem.com



29130 454l

THS

>
S
/-

E £

A

B

E=EEL  ATHM

C D M1 M2 M3 M4 M5 Al
29130-18 18 42,5 50 5,5 (2x) 18 - 40 - - M6x16
29130-30 30 55 63 78 6,5 (2x) 30 - 60 - 53 M8x25
29130-40 40 80 87 105 8,5" (4x) 42 52 82 60 80 M10x30
29130-50 50 92 100 130 10,5* (4x) 50 60 100 62 98 M10x35

© norelem www.norelem.com




